
 

SO24PROX 
 
2.1 

 

 

 

 

 

 

 

 

 

 

 

 



 

SO24PROX 
 
2.2 

 

 

 

 

 

 

 

 



 

SO24PROX 
 
2.3 

 

 

 

 

 

 

 

 

 



 

SO24PROX 2.4 
 

 



 

SO24PROX 

 

2.5 
 

 



 

SO24PROX 
 
2.6 

 

 

 

 

 

 

 

 



 

SO24PROX 2.7 
 

 

 

 
 

 



 

SO24PROX 
 
2.8 

 

 

 

 

 

 



 

SO24PROX 
 
2.9 

 

 

 

 

 



 

SO24PROX 2.10 
 

 

 

 



 

SO24PROX 

 

2.11 
 

 

 

 

 

 

 

 



2.1 1 Z180000 Turnable sealing washer 1
2.1 2 Z180001 Wave guide cover isolation 1
2.1 3 Z180002 Turnable motor 2.5/3 rpm 1
2.1 4 Z180003 Screw  FDS SF M3,5x8PKS TorxT-20 Zn.A 2
2.1 5 Z180004 Screw FDS. SF M4x10 PKS CK Zinc. 25
2.1 6 Z180005 Rear support 2
2.1 7 Z180006 Inferior thermal isolation 1
2.1 8 Z180007 Inferior isolation box 1
2.1 9 Z180008 Lateral thermal isolation 2
2.1 10 Z180009 Lateral isolation box 2
2.1 11 Z180010 Base MW – 32 1
2.1 12 Z180011 Upper metallic trim grey 1
2.1 13 Z180013 Right metallic trim grey 1
2.1 14 Z180014 Left metallic trim grey 1
2.1 15 Z180015 Hinge support MW 32 2
2.1 16 Z180016 Scr. SF PLUS M5x10 1352 CK Zinc. 4
2.1 17 Z180199 TERMAL PROTECTOR 150° 1
2.10 1 Z180161 Door MGT BERTAZZONI-II S.S. 1
2.10 2 Z180083 Left lateral enclosure 1
2.10 3 Z180084 Right lateral enclosure 1
2.10 4 Z180205 TURBO REAR ENCLOSURE 1
2.10 5 Z180086 Upper enclosure 1
2.10 6 Z180004 Screw FDS. SF M4x10 PKS CK Zinc. 34
2.10 7 Z180207 insulation bushing 1
2.11 1 Z180087 Rotating bracket 32 - II 1
2.11 2 Z180088 Glass tray Ø.320 1
2.11 3 Z180089 Rectangular tray 1
2.11 4 Z180090 Rectangular griddle 1
2.2 1 Z180017 Top thermal isolation 1
2.2 2 Z180018 Components bracket 1
2.2 3 Z180019 Components bracket reinforcement – II 2
2.2 4 Z180004 Screw FDS. SF M4x10 PKS CK Zinc. 4
2.2 5 Z180020 Air flap 1
2.2 6 Z180021 Air flap complement 1
2.2 7 Z180022 Rivet 3,2x4 ref01801-00404 3
2.2 8 Z180199 TERMAL PROTECTOR 150° 1
2.2 9 Z180024 Thermostat 90 º (grill) 1
2.2 10 Z180003 Screw  FDS SF M3,5x8PKS TorxT-20 Zn.A 4
2.2 11 Z180025 Electromagnetic actuator 1
2.2 12 Z180026 Air flap lever 1
2.3 1 Z180027 Fan support  MW – 32 1
2.3 2 Z180028 Tangencial fan 45mm 1
2.3 3 Z180004 Screw FDS. SF M4x10 PKS CK Zinc. 5
2.3 4 Z180029 Capacitor bracket 1
2.3 5 Z180030 High voltage capacitor 2100V 1,2 μF 1
2.3 6 Z180031 High voltage fuse 1
2.3 7 Z180032 High voltage diode 1
2.3 8 Z180200 POWER SUPPLY CORD MW32 ST 1,5 1
2.3 9 Z180034 Insulating bushing Ø26 1
2.4 1 Z180035 Halogen lamp holder 1
2.4 2 Z180036 Wave-guide cover 18/20 1
2.4 3 Z180037 Ceramic holder - II MW-32 1
2.4 4 Z180038 Grill heater - II  1500W 1
2.4 5 Z180039 Nut M4 DIN 6923 ZN 4
2.4 6 Z180040 Microwave seal 1
2.4 7 Z180041 Screw M4x12 "T7985"T20 c/rec.z 1
2.4 8 Z180004 Screw FDS. SF M4x10 PKS CK Zinc. 4

SO24PROX



2.4 9 Z180042 Motor coupling – IV 1
2.5 1 Z180043 Hinge cover 2
2.5 2 Z180044 Internal air duct C.1-II 1
2.5 3 Z180004 Screw FDS. SF M4x10 PKS CK Zinc. 10
2.6 1 Z180045 Magnetron 1000W – II 1
2.6 2 Z180199 TERMAL PROTECTOR 150° 1
2.6 3 Z180046 Scr. SF PLUS M3x6K 1352  Zinc. 3
2.6 4 Z180047 Magnetron sensor MW-32 – II 1
2.6 5 Z180004 Screw FDS. SF M4x10 PKS CK Zinc. 2
2.6 6 Z180201 TRASFORMER 1000W II 220V/60Hz 1
2.6 7 Z180055 Screw PT K 35x10 WN 1451 Zinc. 4
2.6 8 Z180050 Right interlock box 1
2.6 9 Z180051 Left interlock box 1
2.6 10 Z180052 Angular spring 2
2.6 11 Z180053 Interlock box cam 2
2.6 12 Z180054 Micro switch with terminals 4,8 4
2.6 13 Z180016 Scr. SF PLUS M5x10 1352 CK Zinc. 4
2.6 14 Z180202 FILTER MAGNETRON 1
2.7 1 Z180056 Fan MW 32 1
2.7 2 Z180057 Flange motor support 1
2.7 3 Z180058 Thermostat 150º 1
2.7 4 Z180199 TERMAL PROTECTOR 150° 1
2.7 5 Z180003 Screw  FDS SF M3,5x8PKS TorxT-20 Zn.A 3
2.7 6 Z180059 Isolation box 1
2.7 7 Z180016 Scr. SF PLUS M5x10 1352 CK Zinc. 3
2.7 8 Z180060 External thermal isolation 1
2.7 9 Z180004 Screw FDS. SF M4x10 PKS CK Zinc. 9
2.7 10 Z180061 Turbo antechamber 1
2.7 11 Z180062 Spacer socket 4
2.7 12 Z180039 Nut M4 DIN 6923 ZN 2
2.7 13 Z180063 Turbo antechamber - II 1
2.7 14 Z180064 Convection heater 1600W 1
2.7 15 Z180065 Rivet ros.M4 Ref: 09658-00413 4
2.8 1 Z180203 digital programmer tc MW32-XII 1
2.8 2 Z180055 Screw PT K 35x10 WN 1451 Zinc. 12
2.8 3 Z180067 Temperature sensor Mw-32 - II 1
2.8 4 Z180206 Control panel support 1
2.8 5 Z180069 Internal air duct A1 1
2.8 6 Z180070 Internal air duct B1 1
2.8 7 Z180022 Rivet 3,2x4 ref01801-00404 9
2.8 8 Z180071 Rectangular insulating bushing 25x12 2
2.8 9 Z180004 Screw FDS. SF M4x10 PKS CK Zinc. 4
2.9 1 Z180072 Door MW – 32 Black 1
2.9 2 Z180073 Hinge door 2
2.9 3 Z180074 Screw SF Plus M4x8 WN 1352 Ck zinc. 2
2.9 4 Z180075 Screw SF Plus M4x6 WN 1361 CK Zinc. 2
2.9 5 Z180092 Front door MGT BERTAZZONI-II S.S. 1
2.9 6 Z180077 Screw PT K 35x7 WN 1452 Zinc. 10
2.9 7 403532 Handle P.508 BERTAZZONI 1
2.9 8 Z180204 SCREW M5X16 2
2.9 9 Z180080 Internal door frame 1
2.9 10 Z180081 Door silicon rubber seal - II 1



 

SO24PROX  
 

 

 ELECTRICAL DIAGRAM 

 


